Our website is www.pattayabridge.com



  Club News Sheet – No. 429
Our blogsite is www.pattayabridge.wordpress.com






My mobile phone number is 083 6066880







30th  Jan 2011
My e-mail is terry@pattayabridge.com or pattayabridge@yahoo.com

My Windows Live Messenger is tj_quested@hotmail.com


Mon 24th 
N-S
1st
Per And... & Ivy
64%
2nd
Paul Q & Janne Roos
57%

E-W
1st
Lars B & Hans V
63%
2nd
Gerard & Derek
55%

Wed 26h 
N-S
1st
Garsten S & Jette
59%
2nd
Janne & Sigurd
58%

E-W
1st
Per And... & Hans V
65%
2nd
Dave c & Paul Sc
59%

Fri 28th   
N-S
1st
Olafur & Simon
63%
2nd
= Paul Q & Hans V
57%

2nd
= Janne & Per-Ake
57%

E-W
1st
Per And...  &Lars B  
55%
2nd
Gerrie & Richard M
52%

Bidding Quiz

Standard American bidding is assumed unless otherwise stated.
Hand A
Hand B
With Hand A partner opens 1♣ and you bid 1♦. Partner rebids 1♥, 
what do you bid now?
♠ K842
♠ 64

 

♥ 7
♥ A9652
With Hand B you are playing a short ♣ and partner opens 1♣.
♦ AK763
♦ J9
I guess you could pass, but most will bid 1♥. So you bid 1♥ and
♣ K72
♣ 7543
partner rebids 2NT. What do you do?
Bidding Sequence Quiz
C
1NT
pass
2♦
dbl

2♦ is a transfer to ♥’s, so what does opener’s pass show?
pass







D
1NT
pass
2♦
dbl

2♦ is a transfer to ♥’s, so what does opener’s redouble show?

redbl


E
1♣
pass
1♦
pass



1♥
pass
1♠


What is 1♠, natural or 4th suit?
F
1♣
pass
1♦
pass



1♥
pass
2♠


What is 2♠, natural or 4th suit?
G
2NT




How many points is 2NT?   20-22 or 20-21?

H
1♥
2♦
4♠


What is 4♠? Strong or pre-emptive to play?
J
1NT
dbl



1NT is weak (12-14), about how strong is the double, is it equal + to the opening (so 12+) or 15-17?
The triple

Congratulations to Per Andersson, who simply arrived on Monday and immediately won the triple (three wins in a week) with three different partners.
We now have ten contenders qualified for the Bronze medal, with the usual suspects right up there at the top.
Missing the 4-4 major suit fit



Board 19 from Friday 28th Jan
Dealer:
♠ K842



Table A
South
♥ 7

West

North(A)
East

South
E-W vul 
♦ AK763

-

-

-

1♣

♣ K72


pass

1♦

pass

1♥
pass


3NT
(1)
all pass
♠ Q3

N
♠ 1065


♥ J42
W
E
♥ K10985

Table B
♦ Q92
S

♦ 1054

West
North(A)
East

South
♣ 109653


♣ AQ


-

-

-

1♣

♠ AJ97

 
pass


1♦

pass

1♥
♥ AQ63




pass

1♠
(1)
pass

2♠
♦ J8


pass


4♠

all pass
♣ J84



Table A:
(1)
What did you bid with this North hand A in this week’s quiz? You have values for game and this appears to be the popular bid. I cannot understand it at all.
Table B:
(1)
This is the answer to question A. 1♠ here is generally played as natural and forcing (absolutely forcing, just as if it was the first bid) with a jump to 2♠ as 4th suit forcing. 

And what happened? Only two out of seven found the superior 4-4 ♠ game – amazing?
The bottom lines:

· A decent 4-4 fit usually gets an extra trick; Deep Finesse says that 5♠ and 4NT make here.
· One of the main objectives of any bidding system is to locate the ‘golden’ 4-4 major suit fits at either the part-score or game level.

· Do not deny a 4-card major.
Stopping at the 3 level after a jump 2NT rebid



Board 29 from Friday 28th Jan
Dealer:
♠ AK10



Table A
North
♥ J3

West

North
East

South(B)
both vul 
♦ K754

-

1♣

pass

1♥

♣ AQJ10


pass

2NT

pass

pass
(1)
♠ J53

N
♠ Q9872

Expert Table
♥ Q84
W
E
♥ K107

West
North
East

South(B)
♦ Q32
S

♦ A1086

-

1♣

pass

1♥
♣ K986


♣ 2


pass

2NT

pass

3♣
(1)

♠ 64

 
pass


3♦
(2)
pass

3♥
(3)
♥ A9652




pass

pass
(4)
all pass
♦ J9


♣ 7543



Table A:
(1)
What did you bid with this South hand B in this week’s quiz? You want to play in 3♥ but this is impossible as with no agreement most would consider a 3♥ bid here as forcing. So this South passed. 
Experts:
(1)
Our experts have an agreement here. There are a few conventions over a 2NT rebid including the Wolff Sign Off and New Minor Forcing, but easily the best is the PARROT convention which combines Wolff SO and NMF. This 3♣ bid demands  a 3♦ bid from partner and responder can then pass, bid 3♥ to play or bid on to show various hand types.
(2)
forced

(3)
Showing a desire to play in 3♥.

(4)
Without an excellent hand for ♥’s North should pass.

And what happened? Nobody managed to play in 3♥. One North played in 1♣ when his partner passed the opening bid. The only other +ve N-S score was defending 2♠ and getting it two down. All the other N-S pairs played in 2NT, 3NT or 4♥ and all of these went down.
The bottom lines:

· Experienced pairs need an agreement over a 2NT rebid. You need to be able to find 5-3 major suit fits for game and you also need to be able to sign off (usually in three of responder’s major). PARROT (Puppet And Relay Responses Over a Two no-trump rebid) does both of these and is easily the best treatment. It is explained on the website.
Dave’s Column

West
East

West

North

East

South
♠ J107
♠ KQ65

-

-

1♣

pass
♥ A62
♥ KJ54

1♦

pass

2NT

pass
♦ AJ976
♦ Q5
3NT

all pass
♣ 76
♣ AK4

You are East, declarer in 3NT. You can set up three tricks in ♠’s and may get four ♥’s and at lEast four in ♦’s together with the two ♣ tricks. Your problem, however, is to win nine tricks before the defenders get five. How do you play the hand when South leads the ♣Q? 

Dave’s Column Answer




Board 14 from Wednesday 26th Jan
Dealer:
♠ 9832



Bidding
East
♥ 83

West

North
East

South
Love all 
♦ K1042

-


-

1♣

pass

♣ 832


1♦

pass

2NT

pass
3NT

all pass

♠ J107
N
♠ KQ65


♥ A62
W
E
♥ KJ54
You are East, plan the play on the ♣Q lead.

♦ AJ976
S
♦ Q5

♣ 76


♣ AK4


♠ A4

 When the hand was first played East won the first ♣ 
♥ Q1097

 and led the ♦Q. North took the ♦K and
♦ 83
 returned a ♣. Declarer played low and won the next ♣ 
♣ QJ1095

and cashed the ♦AJ. When South discarded a ♠ 
declarer led a ♠ but South won and cashed two more ♣’s to defeat the contract.

When East started the ♦’s at trick two the contract was doomed. East should not play ♦’s yet but lead a ♠ at trick two, forcing out South’s only entry to his long ♣’s. When South takes the ♠A and leads another ♣, East ducks and wins the third round. Now is the time for the ♦ finesse. It loses but North has no more ♣’s and South no entry, so the contract is safe with declarer making three ♠’s, two ♣’s, two ♥’s and two ♦’s. 
And what happened at the Pattaya bridge club? 3NT+2, 3NT= twice, 6NT-2, 3NT-2 three times and 3NT-1. 
Dave’s  2nd Column



Dealer:
♠ Q95



Book Bidding
South
♥ K963

West

North
East

South
E-W vul 
♦ 107

-


-

-

1♦

♣ AK74


pass

1♥

pass

1NT

pass

3NT

all pass

N
♠ 1076



W
E
♥ J875
You are East, defending 3NT. Partner leads a 4th best 
S
♦ AJ8
♠2, declarer plays low from dummy and captures your  
♣ 1098
♠10 with the ♠J. Declarer continues with the ♣Q , ♣J 
and a ♣ to the ♣A,
 all following.; On the ♣K East 

throws the ♠7, Declarer the ♦2 and West the ♦4 
Dealer:
♠ Q9

(showing no interest in ♦’s and natural count). 
South
♥ K963
The ♦7 is led from dummy.
E-W vul 
♦ 107


♣ -

N
♠ 6
This is the position after five tricks and the ♦7


W
E
♥ J875
is led from dummy. How should East defend?
S
♦ AJ8
 

♣ -


Dave’s 2nd Column Answer




Board 3 from Wednesday 26th Jan
Dealer:
♠ Q95



Book Bidding
South
♥ K963

West

North
East

South
E-W vul 
♦ 107

-


-

-

1♦

♣ AK74


pass

1♥

pass

1NT
pass

3NT

all pass
♠ A432
N
♠ 1076


♥ A102
W
E
♥ J875


♦ 964
S
♦ AJ8
 

♣ 632


♣ 1098
 

♠ KJ8

 

♥ Q4

 
♦ KQ532
 

♣ QJ5



On the ♠2 declarer plays low from dummy and captures the ♠10 with the ♠J. Declarer continues with the ♣Q , ♣J and a ♣ to the ♣A, all following.; On the ♣K East throws the ♠7, Declarer the ♦2 and West the ♦4 (showing no interest in ♦’s and natural count). The ♦7 is led from dummy. 
Dealer:
♠ Q9


This is the position after five tricks and the ♦7 

South
♥ K963
is led from dummy. How should East defend?
E-W vul 
♦ 107


♣ -

In the final of a national teams event both Souths 
were in 3NT with the ♠2 lead. Both won in hand 
♠ A43
N
♠ 6
and both cashed four rounds of ♣’s. When the ♦7

♥ A102
W
E
♥ J875
was played from dummy one East rose with the 
♦ 96
S
♦ AJ8
 ♦A (fatal) and reverted to ♠’s. Declarer now had 
♣ -



♣ -
 four ♣’s, three ♦’s and two ♠’s for +400.

♠ K8

 
At the other table, East ducked the ♦7 and South 
♥ Q4

 
won with the ♦K. The ♠8 went to dummy’s ♠Q
♦ KQ53
 
and the ♦10 was led. This time East rose with the 
♣ -


♦A and switched to the ♥5, ♥4, ♥10, ♥K. Declarer
Now had no entry to the South hand to reach the 
♦ winners and the defense subsequently took ♠A, 

♠4, ♥A and another ♥ for one down.

The fourth-highest ♠2 lead told East that South had three ♠’s. South had turned up with three ♣’s and West’s ♦4 discard showed no interest in ♦’s (and apparently an odd number of ♦’s). As South had bid ♦’s East could place West with three ♦’s and South with five. That left South with only two ♥’s.
Hence there was no rush for East to take the ♦A. If West has started with ♠AKxx South would have the ♥A and ♦KQ and could not be prevented from making nine tricks.

Tip: The early play and partner’s signals will often allow you to piece together declarer’s shape. That can help you considerably in finding the winning line of defence.

And what happened at the Pattaya bridge club? 3NT+1 three times, 3NT= five times.
Bidding Quiz Answers
Hand A:
1♠, natural and 100% forcing. Pretty obvious I know but it looks like five out of seven decided to bid NoTrumps.
Hand B:
What do you do? - Wish that you had some sort of agreement that would enable you to play in 3♥! Without any agreement I guess that pass is best. But if you play PARROT then you bid 3♣ which forces 3♦ and you then bid 3♥ which partner should pass. Without agreement most would play a direct 3♥ here as forcing.
Bidding Sequence Quiz
 C
1NT
pass
2♦
dbl

Most play this as denying three ♥’s.

pass







D
1NT
pass
2♦
dbl

I guess you have to agree this, I would say four decent ♦’s.

redbl


E
1♣
pass
1♦
pass



1♥
pass
1♠


Most play here 1♠ as natural and forcing…

F
1♣
pass
1♦
pass



1♥
pass
2♠


… with a jump to 2♠ as 4th suit forcing.

G
2NT




The range is best played as 20-21 with 2♣ followed by 2NT as 22-24 rather than the old-fashioned 20-22 and 23-24. The reasoning here is that the lower point range comes up more often and so having 2NT as 20-21 is more specific.

H
1♥
2♦
4♠


4♠ is to play, with no slam interest. 2♠ would be forcing  and the bid made with a good hand unless you have agreed negative free bids, which very few visitors to our club play.

J
1NT
dbl



It’s best to keep the double up-to strength and still about15-17 as over a strong NT. There are a couple of reasons; first of all, if you double with 12+ then partner will not know when to pull it. Secondly, if you double with less than 15 points you will often run into a re-double and here the doubler does know how many points his side has.
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